Pokalspiel 1. Stadtklasse / 2. Stadtklasse

zwischen Sachsenwerk 2. & TTV 2007 5.

1.]Jan Berger 1.|Christoph Reuter
E 2.|Ronny Hedrich 2.|Kevin Gocht
Z
5 | 3.|BertBlimel 3.|Norbert Gassel
4.INico Amm 4.]Tobias Tscherwinski
1 Jan Berger / 1 Christoph Reuter /
o “|Ronny Hedrich " |Kevin Gocht
5
2|, Bert Blimel / > Norbert Gassel /
“INico Amm " |Tobias Tscherwinski
Spiele: 1. Satz | 2. Satz | 3. Satz | 4. Satz | 5. Satz Balle Satze Punkte
1 || [Pan Berger/ 1, |Christoph Reuter / 9 :1)ur: ofur 7|7 11|10 : 12| 48 50 | 2 3| o 1
E_J Ronny Hedrich Kevin Gocht
e
2 |22 |Bert Blumel/ 2, |Norbert Gassel / 11: 5|8 : 11} : 16)12 : 0] 7 ;11| B2 53 | 2 3| o 1
Nico Amm Tobias Tscherwinski
3 1. ]Jan Berger 2.|Kevin Gocht 12 : 14|11 : 510 : 12§11 : 9|11 : 9| 55 : 49 3 2 1 : 0
4 2.|Ronny Hedrich 1. |Christoph Reuter 6 : 11111 : 811 : 9] 5 : 11]10 : 12] 43 : 51 2 3 0 : 1
5 3.|Bert Blimel 4. |Tobias Tscherwinski 11 : 819 : 119111 : 6] 6 :11Q11 : 2] 48 : 38| 3 : 2 1 : 0
6 4. [Nico Amm 3.|Norbert Gassel 12 : 10411 : 4§11 : 7 : : 34 . 21 3 : 0 1 : 0
7 1.]Jan Berger 1. |Christoph Reuter 11 : 819 : 1116 : 11]12 : 10Q11 : 4] 49 : 44| 3 : 2 1 : 0
sladla. Ronny Hedrich 2.|Kevin Gocht 11 : 711 : 87 : 1111 : 8 : 40 . 34 3 1 1 : 0
1IN
z
9 | | 3.|Bert Blumel 3.|Norbert Gassel 11 : 511 : 510 : 12]J11 : 8 : 43 : 3013 : 1 1 : 0
10 4. [Nico Amm 4. |Tobias Tscherwinski 8 : 11]11 : 8|11 : 56 : 11§11 : 7| 47 = 42 ] 3 : 2 1 : 0
11 3.|Bert Blumel 1. |Christoph Reuter 11 : 9113 : 1111 : 8 : : 35 : 283 : o0 1 : 0
12 1. ]Jan Berger 3.]Norbert Gassel : : : : : o : ©0 0o : 0 0 : 0
13 2.|Ronny Hedrich 4.|Tobias Tscherwinski : : : : : o : ©0 0o : 0 0 : 0
14 4.|Nico Amm 2.]Kevin Gocht : : : : : o : ©0 0o : 0 0 : 0
Endergebnis: 494 : 44030 : 19 8 : 3

Sieger: Sachsenwerk 2. Spiel: B5 18.11.14




